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Candidates are required to give their answers in
their own words as far as practicable.

The questions are of equal value.
Answer any five questions.

1. What is human development ? Mention the
essential components of human development.

2. Discuss the occupational structure of working
population in India. What are the factors that
determine occupational structure ?

3. Highlighting the growth of National Income of
India since the beginning of economic planning
and point out its main features.

4. Explain the concept of Import substitutions. Point
out the defects of import substitution led

industrialisation.
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What are the different concept of unemployment ?
Mention the causes of unemployment in India.

“Population growth is an-obstacle to economic

growth”. Express your views for or against this

What does Green Revolution refer to ? Point out

the achievements of this New Agricultural

Strategy. -

What are the functions of WTO ? Discuss the

- expected benefits of WTO for India.

Write short notes on any two of the following x
(@) Concept of Economic growth
(b) Agricultural unemployment

"(c) Problems of Industrial Developmentin India

(d) Balance of Payment _
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